B?F'Yoﬂ&f (gig) och An‘kbﬂfyﬂﬂ?r (é‘-&:é‘)

Yopra — SUQR) - 994 7
thiwvr — SU(%) fir qqq ?

Yol —> SU(3) For g9a ?



E) EV‘\/&M(L-’\S

Lijspfnn i S U (‘Q)

’ ¢ i
Sprnn Upp =Ll’l[:--,-!,l-,{>= X = T = "ru

{
Spian “f"‘lﬁi’[?{: 12 f=4 =Y



B3 Iryoneas Spin Sv(2)

VlJ 5} Liryan{qj ?annv;llwfﬂn
forvtsatdt a4t mam vet aH de
bestsv av e kvaclar med tpinn =l

N e
®° - fo $.==-5..5=286
Tv: k!/}r“l_}i‘t L-S“-S'-tsh_ _"Il-I{':x-." S: ,_f.-!u
Y’F
-$__S= = T =
Tre loadaes S= PR 1' G Slt “ia
2 Si =-S... St g ';‘
3
Tv': kw!’lt‘#r: s R s?':-S-- 5 .-*.zll‘%t.li‘%
(mesonsr) A 5 L S =3
q”ﬁ = Iﬂ f> (&f b‘{} } ﬁni‘:i*nnl"n!k sb‘tzj fr-a,h'!‘-!’
; (IEDE M‘ )
\ S 100e>=&=(ahen) | Syemedrisk
. su(I) ‘in"rlt'“‘
111D = K H
Tre kvaskyy:
(.Elryn.ur) S 3; Fe83 ray
(FM' l‘% i)’ %(Nﬂﬂ‘ﬂ('(] } Miyed in‘l‘fsyhh{"lrﬁk
o _H“i}“i’f(““ﬁ'ﬁ”) SU(2) doble
;yﬁ*,ﬂJr 102 2 (P B~ 2xxB) | Mixed symmedrisk
T 10 (xph+prs~288N)| SUL2) bl
13 33> xu«
2012 45 4 (bR + ARx)

S\(hn{‘ $risk

TR (XA KB | Uld) havtett

[3-4>= AAp



MESONEV‘ l’t?v" Sprnn O eller 1 I

3

E)ﬁr)/ol\er l\,w' 5Pi‘m :zl‘ {lltr ? !



BGFYOths

W;l?vcur il S U (3)

TNY
"Fliwur vp E [% }E ';‘ > : U
thvorr down = H—#_ -g > = d

'F[ivpur .i'Lrbﬂp_ - ’O ﬂ*%} = s



Ty
123132 vuu ¢
l% ‘% |> 2 é(Jvu“’Udv“‘ou)
|i"é l>= #(JJU‘UJJ*J#J)
st(‘[vl'jk l % "'% |'> s JJJ ® .Iy?‘ih $
Sv(®) It 10652 'ﬁ'(ws 50U+ 3w Lr 45=%

Jd‘”ha L eo>= 'E(Jsu#vh "'tuJ*lJv*JvMu:J)
1=t 8> = gr(ddsvedd«dsd)

l'% '% =1) a ‘ﬂi (res #5350 ¢ vry)
H"{-l)aﬁ‘uu-tnln-snl) l

lo 0 -2>= ssg )
Aa{iss‘(ar;*vir'({l 0 o a>‘%(4“"+UJ!+$UJ“U’J-:J”-:|U;) \
singli bt ¢
rl'% "i I) =-&(u4u+:|uu—2w4), ""-?(Udu-duu)
ff:i:}_;’rw 14 4 1) 2~plddedd -20), fh(vdd~dud) D
s(3) L1 1 6datk@ivesow=2uus), & (us0 = s00) }_ lps% y
oktett { 1 0 0)=@hdutsudtdivsvid-2dus-20ds), i.’..;(dsu-wd-wi—s-lu) lfjﬂ'h{“"—-
u/:‘?:fdmk F1=t 0> ag(drdesdd-2dds), 'ﬁ‘USJ*sJJ) Sz
S0 It 1-> 2 g(vssews~250), & (vss ~svs)
ol b 4 l{-i -'>=‘ér_d13*‘di-1u4)’ ﬁuﬂ‘-idﬂ
\'l 0 o °>="-%.-f:fiu-=-w4-t;.‘u-$ui_), ﬁ(\lu-w&wli-dm-lm-zﬁj

5= > 'Illl:AM‘Mgi\%tﬁD;b_-‘_

L]

+

MMM

> |



H“"' kﬂ'\'o:ntﬂs Sp?nn v;ﬂl'I(UnLL'l‘:'dntfni ned

flav eev v:'-j fvuktion evn ?

Mesenec:

Psevdeskaldrmesener (07):
Vektvmesoner ( (=)
Skal?r mesener- (0+)=

Axtelveldovmemar ( 11):

_B:iwan:r:

A ="a (7):

X E.A (1)

Yoy, -
LP -L( L""'ft L,/*[:ﬂw-l- i“:l'

A S
?A g Lrsin i Y‘Fhvm
s A
*A‘ Lh"—“ ‘ lyﬂiwn-r

Lavous

(VAA \

"'hll.rlllf {



Y 2
A
1 o+ '11 lﬂp
- ¢ *
A
-'.. E; EE‘
—: + 4)1'3
o | "&l 0 7 [}
p. 3"
Y J=2
f[‘ A AN at At
[ ™ L] L] .
j.l. gt*- ?a tz..f
4 5
o
-‘2... [
| PP bt
~2 =t~ g 4 7 2 3
4 ' L4 2

vdd
]

odd

vud

sdou Svu

*9 L

sdp

¢id

L]

ddd ddv

5Tu

Syv
530
L ]

s
L ]



Baryon Spectrum

m
GE‘H" Nt
2.4#— o
B 6t —
LV p—
2+2 _5&—_
/7
20 = ?f2+___..,._, jz
A ™ e
+ *
= /2 S5/2
5 S/t 3;2*'_
. 5/t Ty —
1.8, .- i .

0

doublets quartets singlets triplets doublets singlets

Y= 1 1 0] O ~1 -d

prnf#qlﬂ -a'r d!ﬁ. !n\Ji biryﬁneq $O ™ i‘i" H[l{‘;ndﬁi‘l
stabil och a2 24dya biryontr sowdesrtaller 40U pre boner,

Llpl‘lnr och Fd‘l‘rnlf_ Z'f -3 N <+ ﬁ"+ 4%,

+
Exempel: | Lt 1w
“DPP+e + Ve loe Y.



RI-}V“YOVKQ-’\_Y

%lm - S U (3)

Ny
Colour ved = H'}!’;>:

r
colovr qreea = H“"‘%“‘i>=d
>=b



5 U 63) cu[auf‘

Kvackar:  pypeye
414> v
[t3-4>= T
l{‘dw:: li- 32 9
1144323
loo-4>=b
Lloo 35: b
Elyonee: (Hdﬂ) - Q(qi-rr]
LoD = rﬁ
L1402 = ¥q
Yoy A HEE1> 2 0
13-4 1> = q)
11> = ¥b
Hi{-pa3p
\Juud):“é(‘lﬂ-rr-—ibb)
!&idnl{:

Yo = 100 0> =72 (vFaqq+bb)

Baryoner:

Yatan = 0005 2L (rgbsbrg +gbr=grb=bgr-rbe)



Stable Particle Table (coni’d)

Particle  1SM)C © Mass? Mean life” Partial decay mode
o Mode Fraction T
(em) : (MeVv/c)
™= (or r* —chg conj.)
T (contitued) 1K~ (892w ( 1.7 £07 665
K*“ (1430w { <09 by 23
f-ps.r ( 54 £ 17 Y% 718
e~ chgd.parts.
+ p~ chgdpans. (<4 %
w (=55 107 B89
ey { <64 =10~ 892
apta” (<49 )x10~* 876
e utu” (<33 yx10~* 886
pete” (=44 104 289
eTete” { <40 Jel0~4 £92
u= (<82 <10~ B84
e x? (=21 10 BE7
uK? (<10 03 L 819
e K? {<1.3 103 821
w ot { <44 10" b bl
e~ p? (<37 10" 726
== searches for massive neutninos and lepton mixing
= ¥ bounds from astrophysics and cosmology
— heavy lepton searches
NONSTRANGE MESONS @
. *+*'1 {or x~ —chg conj.}
T 17(07)  139.5673 26030%10°%  ut» 100% 30
. +0.0007 +0,0023 ety ( L232x0024)x10™% S=20* 70
cr=780.4 TIF:"'T ; .24 0.25 }xIO_: a0
m__~m__ =33.9080 ety 56 = 07 wmi0” 70
= EY L 0.0008 etox® { 1.033:0.034 ]xlﬂ'"l 5
etvete” (<5 =10~ 70
»*y, (<13 x10~3 30
ety (] xio~? 0
=¥ )+ 1349630 0.83x10716 oy ( 98.802,, 0 030)% 67
+0.0038 006 S=18" ete” ( L9 67
er=215x10""% rr <18 io~7? 67
m_, —m_g =4.6043 ete ete” 3.24 103 67
£0.0037 Y (<4 )x10~% 67
ete { 1.8 207 )x10~7 67
e (<24 )x10~3 67
pte” +pu"et (=7 yx10"8 26
n 0*(07)+ 5488 I=(0.88 £0.12)keV *r (390 £ 08 % 274
106 - Neutral decays I {318 =+ 08 % S=[1° 180
=14 (70.9£0.7/% oy { 0.10 = D02 % 258
wtx"x (137 = 05 175
v¥s"y { 491 013 ™ 236
ete™y ( 050 0.12 M 74
wtuTy { 31 = 04 )04 253
ete” (=<3 yc10™4 174
" ( 65+ 21 )x107% 253
Charged decays wixTete” { 013+ 0.13 )% 236
(29.1 £0.7% =ty ({ <0.21 ¥ 236
wtr wly (=<6 pxin~4 175
rte” { <0.15 1% 235
wlete” (=5 ye10~ 3 258
watu” (<5 yx10”8 2
utuTy (<3 peto™® m




BT

Stable Particle Table (cont’d)
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